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No. E m& &% &
w D H Bk EBER/HBEA 523 EBER/ B4
1 28 £ 1 1,040 680 1,820 1 FTRR 1 it k B
2 a8 HIREY&—F=T 1 1,200 650 400 1 oE— 2 AERE
3 28 REA R 1 900 730 780 1 oE— 2 AERE
4 28 EhT-2 1 1,150 1,450 1,920 1 oE— 1 R&E HHBE  |[£EFTR
5 28 HEI-F4>0Fz7T 2 500 500 1,200 1 oE— 2 7 -4 ZR—2Z3
6 a8 SRR & HE 4 880 515 1,790 1 EEREREER 1 fif KB
7 a8 SRR & HE 2 880 600 1,790 1 W REREER 1 fif KB
8 28 SERTIR) & EE 2 880 515 1,790 1 HEEAE R 1 it kB
9 88 SERTIR) & EE 3 880 600 1,790 1 HEEAE R 1 it kB
10 | 28 F74RFT 1 590 685 1,034 1 EABER 2 BOEE REEDOLLHD
11 | tHas KT A RR=F 1 1,900 560 1,800 1 F2RBE 1 REEL
12 | ## BHYE 1 1,800 900 2,200 1 S ERT4— B4 |  SKBEALT
13 | a8 ¥y 28—F—TN 1 1,200 1,400 700 2 BB 2 EREHR
14 | a8 ¥y 28—F—TN 1 1,200 1,400 700 2 BB 1 RFE
15 | a8 ¥y 28—F—T N 1 1,400 700 700 2 BB 1 RFE
16 | a8 ¥y 28—F—TN 1 1,400 700 700 2 BB 2 BHE2
17 | H8 73y 2 390 580 650 2 R 2 HRBBR
18 | a8 =% 3 390 580 650 2 BB 1 RFE
19 | a8 F74Z2Fz7 (&) 1 590 685 1,034 2 B EGE 2 7= ZR—2Z2
20 | R F742F 7 (ER) 1 590 685 1,034 2 E I EGE 2 7= ZR—2Z2
21 3= FT74RF T (ER) 1 590 685 1,034 2 IRELGR 2 7= RAR—=2Z2
22 | F74Z2F =7 (1) 1 590 685 1,034 2 E G 2 BHE2 %7 — 2
23 | £HhT—2 2 1,150 1,450 1,920 2 B EGE/ B HE 2 BHE2
24 3= 1AL T—7 L (REXR) 1 1,500 750 700 2 IRELER 1 ENRIEE
25 | 28 HI 2Ly 2=—F=T N 1 1,200 650 400 2 FETRE 2 DE
26 | 38 RN T 1 1,300 410 400 2 FETRE 2 7= ZR—23
27 | 8 RN T 1 1,300 410 400 2 FETRE 2 7= ZR—23
28 | & HI2Ev2=—F=T N 1 1,200 650 400 2 HRE 2 HTRE
29 | 8 REA X 2 800 800 710 2 ETRE 2 HTRE
30 | 8 RERAR 1 1,600 750 720 2 ETRE 2 HTRE
31 28 I=FUAVIT=TIL 1 1,800 900 700 2 TR=E 2 7 =9 AR—23
32 | REI-FT4>0F 7 1 500 500 1,200 2 ETRE 2 7 =4 ZR—23
33 | R RTA RR—F 1 1,900 560 1,800 2 LR PIL—L 2 £EE
34 3= BEW5ER 1 1,505 455 1,805 2 LR R—L 1 ENRAERE
35 88 S INEV IR 2 900 400 780 2 ERIRIER 1 ENRAERE
36 88 S IEV I3 13 900 400 1,120 2 ERIRIER 1 ENRAERE
37 88 S TE Y5 2 800 400 1,840 2 ERIRIER 1 ENRAERE
38 88 S TE Y5 2 900 400 1,850 2 ERIRIER 1 ENRAERE
39 88 S TE Y IBE 1 900 450 1,800 2 ERIRIER 1 ENRAERE
40 3= *742Fz7 (FIR) 1 600 685 1,034 2 HTRE 2 RE
41 3= KRANTL 1 2,000 500 2,000 2 HTRE 2 HIBEE
42 3= F74RF T (§) 1 590 685 1,034 3 TERRE 2 7= RAR—=2Z2
43 3= F74RF T (1%) 1 590 685 1,034 3 TERRE 2 REE2 Eh7—2H
44 | zofs HA&ET—7 v (REXIR) 3 1,500 750 700 3 TERRE 1 RRAR R—2Z
45 | & RTA RR—F 1 | 1,900 560 1,800 3 FILBEE 1 KHE2
46 KEA R 12 600 700 1,000 3 o 2 BEERE
47
48
49
50
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No. [z faf Bk &%
W D H %2 BER/EBA 255 BEA/BBER

1 | OAM3R BEE (FER) 1 1,250 700 1,100 1 HTERER 1 PBEL
2 | OAMzR Yalby&X— 1 500 530 970 1 HEEAERIERER 1 BERIZE
3 | OAMss REEEH 1 1,400 1,000 1,380 1 HEEAERIERER 1 BERIZE
4 | OAMEZR 7Ry &a— 1 995 800 940 1 HEEAELR 1 BERIZE
5 | OAMss AT Y 1 440 550 320 2 LR MIL—L 1 BERIZE
6 | OAMzs AT Y 1 1,500 550 630 2 LR MIL—L4 1 BERIZE
7 | OAMzR Bk 1 700 600 370 2 LR MIL—L4 1 BERIZE
8 |&£ERE| HEE 1 550 560 830 2 LR MIL—L4 1 EBANARRE
9 |&£ERE| HEE 1 480 600 1,120 2 DI HHE 1 BHNEE
10 |£ERE| AEE 1 480 560 1,120 2 DI HHE 2 fama—F—
11 |&ERE| ZREE 1 400 220 600 2 PEE NEEE 1 KEE
12 | OAMkgR TV ra— 1 460 390 410 2 BMGR 2 HHB=E2
13 | OAM%ZR KEE =% —(Maxhub) 1 1,800 600 2,000 2 F2RHE 2 o
14 |£ERE| ZREE 1 400 220 600 2 F2RHE 2 EoRES
15 | OAM%ZR REE=ZX— 1 1,200 200 1,100 2 R 2 HH=E2 BEHMNT
16 | OAM%ZR EE 1 570 330 520 2 R 2 HH=E2
17 | OAMkgR TV ra— 1 460 390 410 2 R 2 HH=E2
18 | OAM%ZR BEE 1 1,480 900 1,220 2 R 2 HH=E2
19 | OAMkgR TV ra— 1 460 390 410 2 IREGER 2 HH=E2
20 | OAM%z= BEE 1 600 700 1,380 2 EEIRIER 2 HH=E2
21 | OAM%2s TV ra— 1 460 390 410 2 ERRIER 2 HH=E2
22 | OAM%2: KRFEI=V b 1 1,100 800 1,000 3 DERARHEE 1 KEE1
23 |EERE| ZRERE 1 420 400 1,000 3 DEE KREEE 1 BIRFEE
24 |EERE| ZRERE 1 400 220 600 3 BIRHEE 1 EVES:
25 |EERE| ZRERE 1 420 400 1,000 3 E2 2 REHE
26 | OAM%23R TVE=Z&— 4 900 220 560 BEBBELY BBEL2 32BRE
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